HE2Eo] 8emQl @9 HWole A1E°] 8em <l o] Heolo] H Hijelz]

HE2]Eo] 8em ] 9] Yol E oA
8 x 8 x 3.14 = 200.96( cm?)
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4x4x3.14 = 50.24( cm?)

200.96 = 50.24 = 40|82
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(2x2x3.14) - (4x4><%>

= 12.56 — 8 = 4.56( cm?)
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(FF2]5)x2 x 3.14 = 37.68
(FH2] 5 )= 37.68 + 6.28 = 6(cm)
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(T2 Z)x2 x 3.14 = 56.52
(HrA]5)= 56.52 + 6.28 = 9( cm)
(¢ 1] wol)-(H 71 Hel)
=(9%x9x%x3.14) - (6 x 6 x 3.14)
= 254.34 — 113.04

= 141.3(cm?)
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‘ 188.4+ 3.14 + 2 = 30( cm)
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(1) (2)
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[> ®Eh: 492.98 cm?

] :6x6x3.14 = 113.04(cm?)
11 11x11x3.14 = 379.94( cm?)
113.04 + 379.94 = 492.98( cm?)
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